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Generative Lexicon

HRERERE



Jooooobobbooodd

0000000 (semantic primitive): 000000000000
Oooooooooooobboobood

000 (ambiguity): 000000000 OD0OOO (sense) 00O
ogoon

e 1O0OOODO (contrastive ambiguity)
Jooooddddoooooododooooodddn
000 (homonym) — bank(O 0 ) vs bank(O 00 O)

e 10JOODO (complementary ambiguity)
oddboodubboddbodoooddbodn
bank(ODOOOO vs OOOODOODOO)

000D (@CoobOo)yoooodoe:
e 100 ODOODOO (sense enumeration lexicon: SEL)
e core meaning U U UOOOOUOOOOOOOOOOO



Joooboboboboobobooddd

e “begin” UL UUIUUIOUOODOOOUOLODODOOOOOON
000

(la) Mary began to read the novel.

(1b) Mary began reading the novel.

(Ic) Mary began the novel.

e “bake, cook” J [ process [ creation U OO O0O0OOOMO
2a) bake potatoes

bake a cake

)
3a) cooked the carrots
)

cooked a meal



e “‘cood” IUUIIOIOIOOOOUOOOOOONOMO
(4a) a good car

(4b) a good meal

(4c) a good knife

e 10D DDOOOOOOOOOOO

5a) 7 Mary kicked him with her foot.

5b) Mary kicked him with her left foot.

6a) 7 John buttered the toast with butter.

6b) John buttered the toast with expensive butter from Wisconsin.

(5a)
(5b)
(6a)
(6b)



0000 (Generative Lexicon) I

o LU DOOULOOOLOOLOOObOOUObOOUbOUObgdogt
000000 (generative operation) 00000000 ODO0O
Jooodbootdbootdbootdbodgbbogun

e JUIDOUODO40DOLOOLOUOOONO

000 (Argument structure): 000 000000000000
HREEN

0000 (Event structure): D000 00000D0OODOOOOO
oot

0000 (Qualia structure): 0000000000000 400
oogogo

000000 (Lexical Inheritance Structure): 000000 O
Jodoooduog



DDDDDDDDDDDDDI

build

ARGSTR =

EVENTSTR =

QUALIA =

ARGl =|1

ARG2 = |2 CONST =1 3

D_ARG1 =3

animate
FORMAL = physobj

artifact

FORMAL = physobj
material
FORMAL = mass

E1 = eq : process

Es = e5 : state

RESTR =<«
i HEAD = e, )
create

FORMAL = exist(ez2,| 2 |)
AGENTIVE = build_act(e1,| 1 |,| 3 |

|

3




000 (Argument structure) I

e JUOOOOOLUOLUOULDULULOUON

e 100 Generative Lexicon 00000000 (ODODODO)OODOOO
HEN

e JUIOODOUILOULOULOUOODOLOOLOUbLODL3ODbLUObLUODLDUn
HEN

— 0000 (trueargument): 00000000 (DO0OOO)O0O0O
Jood

John arrive late.

— 0000000 (default argument): OO0 00000000 O0O0O
Jodooogd

John built the house out of bricks.

— 0000 (shadow argument): 00 0000000000000
oot oboboobouogo

John buttered his toast with expensive butter.




DDDDDDDI

build

ARGSTR =

butter

ARGSTR =

ARG; =
ARGy =
D-ARG;

ARG; =
ARG:s =
S-ARG;

animate_individual
artifact

material

human
physical_object
butter




0000 (Event structure) I

000000000000 (0oOOoooon)

e Vendler (1967) 00000

00 00 [
state oooooooodg oood liveO OO OO
activity dooogd oooo walk, runl] O [
accomplishment | OOO0O0OOOO00OOOO OoOgdx build (a house)d 00O
achievement Dodoooooooa O00x fall, 0O OOO0O

e LU OUOLOOOOUOLOOODLO

e 10JDOOODOO (subevent) 00O DOOOOOOO

e Generative Lexicon U OO UOOOOOOOO state, process,

transition 0 300 (DO0O,000,x 0O0O)O

e accomplishment [0 achievement 00 0O 0000000 OO0OO0ONO
Oo00o00o0ooooooonon



DDDDDDDDI

" build |
[ E, = e1:process |
Eo = e,:state
EVENTSTR =
_ | HEAD = e |

e build I 20000000000 OOOOOOOOMN

e RESTRUOUDUUIIDOODDUOODUOOOODDe; O ex000OOOOM
Juobbototdbtdbtdbtboobobobbtboubotubtdbgn

e HEADIUOUOODODODODDODOUOUOOODDDe; DO ODOOOOOOOO
ooog

10



DDDDDDDDDDDDDDDDI

< partial order of “part-of’
< strict partial order
o  overlap

[  inclusion

e J0eJ0000O00 “head” DO ODOOOOOMO

Jubogdootdbod

build: [e0 €] <s e2]

< UO0O0o0oooooouoobd o 00 “exhaustive” U 0 U [
JO000e Uleg,eo OO OOOOOOOOOOON

11



DDDDDI

[Pustejovsky 95| 0 00000000000 O0O0OO0O

les €1 <o €2] =def <« (€1,€2,e3) “exhaustive ordered part of”
Vejeses|<o (€1,€9,€3) <> €1 ez Aeg < ez Aep < e/
Vele K es3 —e=¢€1 Ve=es]

les €1 Ox €2] =def Ou(e1,€2,€3) “exhaustive overlap”
Vejeseglon(e1,e0,e3) <> e1 ez ANex egAep Cea Aeg EegA

deleCeaNeCeas Ae=eg| AVele ez —e=¢e1Ve=es

les €1 < Ox €3] =det < ox(e1,€2,€3) “exhaustive ordered overlap”
Vejeges|< ox(e1,62,63) <= €1 X ez Aeg X ez

e1 0 es Ainit(er) < init(ez) A end(e1) = end(es)

AVele < e3 —e=e1 Ve = ey

12



DDDDDDI

build:
arrive:
give:
buy:
sell:
marry:

walk:

walk home:

eo-

eo-

eo-

< 62: —

13

accomplishment verb

achivevement verb



DDDDDDDDDDDDDI

e 0000000000 DOODOODODOD (0ODODOOOOODO
00)

e 0O DOODOOOODOOODOOOOOO
e 100D00ODDOODOOODODOODODOOODODOODODO (OO
O0000)000000O0000000ooooooDoboOOoooOoood
e OO ODODOOODODOOOOO
O 0ooooodnd
O Oo0doooooooon
[1 I walked in one hour.

[1 I walked to school in on hour.

O000000Oprocess (activity) D 000000000000 O0DOOOOOO
Jo00oooooooudddaccomplishment 00000000 OOON
Jguoodboodod

14



DDDDDDDI

0000 (Constitutiverole): 00000000 OO0OODOOO
(the relation between an object and its constitutions or proper

parts) — material, weight, parts and component elements

0000 (Formal role): 00 O000OO0OO0O0OO (That which
distinguishes the object within a larger domain) — orientation,

magnitude, shape, dimensionality, color, position

0000 (Telicrole): 00D OD0ODODODOODOODOODODOO

[0 (Purpose and function of the object) — purpose, built-in
function

0000 (Agentiverole): 00000000000 DOODOODOO
(Factors involved in the origin or “bringing about” of an

object) — creator, artifact, natural kind, causal chain

15



e ‘book’ UIJIUDIOOON

book(x,y)

CONST = bound_pages(x) V disk(x)
FORMAL = information(y)

TELIC = read(T,w,y)

AGENTIVE = artifact(x) A write(T,z,y)

16




Generative Lexicon U U OO OO OdOOn I

Jubttd botdbbotgtdbtgtdbotdbootbbogtbtgtdod
bbbttty
bbbttt odbotgdbotdbotdn
bbb otdbotdtn

b gtdbotdbbotgtgbtgtdbtotdbootbbotgtbtgtdod
bbb otdbbotgtgbgtdbootdbotgbod

oot dbootdbotdbbtgtbtotdbotbobtotbtotdh
Jubgdbogtdootdbootdbod

o UHULOOULDOUOLODOULOOOLOUDL

17



00000 (Type coersion) I

(1) John began a book.

(2) John began reading a book.

(3) John began to read a book.

e LU OUOOOOLOOUOLOOOOOLODUOOLDUOUODLDOUODLON
Juogdootdbood

e LU OUOOOUOLOOOLOOUOOLOUObOLOUOULOudbLOon
HEN

18



i begin |
ARG1 = x : human
ARGSTR =
ARG2 = €2
I E1 = e : transition |
Eo = es : event
EVENTSTR =
I HEAD = e; |
FORMAL = P(e2, x)
QUALIA =
AGENTIVE = begin_act(e1, x, e2)

e ‘begin' IO UOODOOOOOOOONO
(ARG2=e; : event)

e (2)0 (3) 00000000000 DOD0ODOOCO

e ()ODDODDODOD0DOD0OD0 (abook)d begin 0O ODOODOOD
0000 (00000)000000000

19



Jubtgtd: bbbttt otdboouod
ooy

o LU UOULOOULDOULDOULDUOULUbLOUbLOUOUbLOn
oottt otdgbogun

e (1)IDDOD0OD0OD0 (abook) 000000 ODOOODODODO
OOOTELICODOODO AGENTIVEODOODOOODOODODO

e TELICODOUODOODOONOO ‘a book’ I ‘to read a book’ [ [
AGENTIVEOOOOOODOOO ‘a book’ 0 ‘to write a book’
Od00ooodooooonn

20



000 (Co-composition) I

Jdoobogtddooogddooootddooooddon
(1) John baked a potato.
(2) John baked a cake.

000000000000 000O00O0()obhoooooobood
000000000000 000O0000@)bOoD0DOoD0o0obOood
Jdoobootddooooddooooddooooddon
(change of state) 00 DO 00000 (creation) DO 0O OO0OOO
HRERN

0000000 ‘bake’ D0 ODO0DOOOD0OOOOOOOOOONOOMO
0000000 cake OO ODODODOODODOOODOOOOOOON
oo

21



bake [0 [ [

[ bake

ARGSTR =

QUALIA =

EVENTSTR =

ARGI1 =

ARG2 =

state_change

AGENTIVE = bake_act(eq,|[1||2)

E{ = eq : process

HEAD = €1

22

animate

FORMAL = physobj

mass

FORMAL = physobj




cake 1 [0 [J

i cake
ARG1 = x : food
ARGSTR =
D_ARG1 =y : mass
| CONST =y _
FORMAL = x
QUALIA =
TELIC = eat(e, z, x)
i . AGENTIVE = artifact(x) A bake act(e’,w,y) |

23




DDDDDDDDDDDDDI

1. potatod FORMALOOOOOOOODOO (natural kind) O
000000 baked AGENTIVEO OOOO (bake_act) OO
D000 ydUOUOUO mass OO OOOOO

2. cake FORMALOOOOOO xOOAGENTIVEOO O O O
000000 (artifact) 0O 0Obake 000 O00O0O0O0OO

3. U000 cake HODOOOOUOOOOOONbake OO
00 (process) 00O OOOOO (process + state) 00O
JO0o000o0o0ddoUbake0 0000 0OOOOOOOOON
0000 “creation” DO ODODOOO0OOOO0OOOOOOON

24



bake a cake

[ animate ]

ARGl =|1

FORMAL = physobj

cake
ARGSTR = ARG2 =2 CONST =1 3
FORMAL = food

material

FORMAL = mass

E, = e; : process

Es = e5 : state

EVENTSTR =
RESTR =<«
| HEAD =e4 )
create
QUALIA = | FORMAL = exist(ez2,|2 |

AGENTIVE = bake_act(eq,| 1

25




0000 (Selective Binding) I

000 ((@)000000000D00000DO0D0O0o0oO0oDOOonD

bbbttt otdgbbodgubd
HREEN

Juoguogd

1. I like to buy a fast car.
Mary is a fast typist.
Fast drivers will be caught.

John started a long speech.

A S

Put the tea leaves into a boiling pot.

ctf. Boiling water is in the pot.

26



typist 00000

i typist
ARGSTR = | ARGI = x : human |
FORMAL =x
QUALIA =
TELIC = type(e, x)
fast typist:
i typist
ARGSTR = [ ARG1 = x : human
FORMAL =x
QUALIA =
TELIC = type(e, x) A fast(e)

27




DDDDDDDI

ol e—ae0000000000B0L0000000000430
0000 «00000000 ¢gO00000e8000008Na(gs)

000000000 pOODO0OO0OO0OODOO0O gO0O qO
OO00DOo0Dooooon)

fast typist:

typist

ARGSTR = | ARG1 = x : human
FORMAL = x

QUALIA =
TELIC = type(e,x) A fast(e)

28



Lexical Conceptual Paradigm (lcp) I

e systematic polysemy U OO UOOOOOOOOOOO

e 0000000000 ODODODOOOOODODODODOCO
000000000 (dotted type) D000 O

e OO UOLODOLOOOOOUOOOULOOUOLOOUOLOOODON
oo

phys_obj.aperture_lcp
= { phys_obj.aperture, phys_ obj, aperture }

29



lecp 000000

i newspaper -
ARG1 = x:org
ARGSTR =
ARG2 = y:info.physobj
[ org.info.physobj_lcp _
FORMAL =y
QUALIA =
TELIC = read(e2, w, y)
_ | AGENTIVE = pubish(el, x, y) |

1. The newspapers attacked the President for raising taxes.
2. Mary spilled coffee on the newspaper.

3. John get angry at the newspaper.

30



lepU0O0OO0OO0OOOOOOOOOOO0O

e Count/Mass alternations: lamb

e Container/Containee alternations: bottle

e Figure/Ground alternations: door, window

e Product/Producer alternations: newspaper, Honda

e Process/Result alternations: construction, merger

construction [ [

1. The house’s construction was finished in two months.
2. The construction was arduous and tedious.

3. The construction is standing on the next street.

31



000 GLOOD0OO0o0ooooom

e 1D IOUOUOOOO contextualization U OO O OOOO O
OOoO0ooodd

1. Most pilots prefer Kennedy to Logan.
2. Most pilots prefer New York to Boston.

32



